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Gabon - Focus on mathematics / numeracy 

Second level 
 

Lowland gorilla population challenge: answers 

                                   

Variables which will affect the lowland gorilla population.  

Work out the percentages based on an estimated population of 150,000. 

 

1. 75,000 
2. 105,000 
3. 30,000 
4. 165,000 
 

 

5. 25,000,000 
6. 40,000,000 
7. 55,000,000 

 

Variables which will affect the lowland gorilla population. 

Work out the percentages based on 50,000,000 acres of forest. 


